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PArT - I : ENGLISH

In the following question, out of the four
alternatives, choose the word which best expresses
the meaning of the given word:

1. Forsaken
(A) Nurtured
(B) Neglected
(C) Pardoned
(D) Abandoned

2. Command
(A) Lead
(B) Instruct
(C) Manage
(D) Supervise

Change the given sentences from Active into Passive.
3. He will finish the work in a fortnight.

(A) The work will be finished by him in a
fortnight.

(B) The work finished him in a fortnight.
(C) The work finished by him in fortnight.
(D) The work will be finished fortnight.

4. Why did your brother write such a letter?
(A) Why was letter write by your brother?
(B) Why was such a letter writted by brother?

(C) Why was such a letter written by your
brother?

(D) Why was such a letter written as by your
brother?

5. The cat killed the mouse.
(A) The mouse has killed by the cat.
(B) The mouse was killed by the cat.
(C) The mouse was killed the cat.
(D) The mouse was been killed by the cat.

SEC
Total Marks : 25

In the following question, out of the four alterna-
tives, choose the word which is opposite in
meaning to the given word.

6. FLUENT
(A) Insult
(B) Inarticulate
(C) Internal
(D) Insensitive

7. Prudent
(A) Silly
(B) Unwise
(C) Idiotic
(D) Poor

8. Concise
(A) Intended
(B) Short
(C) Protracted
(D) Elongated

Put Comma at appropriate places:
9. (A) Pandit Nehru the first Prime Minister of
India died in 1964,

(B) Pandit Nehru, the first Prime Minister of
India, died in 1964..

(C) Pandit Nehru the first Prime Minister, of
India died in 1964..

(D) Pandit Nehru, the first Prime Minister of
India died in 1964.

10. (A) Germany, Japan, and Italy formed an
alliance.

(B) Germany, Japan and, Italy formed an
alliance.

(C) Germany, Japan and Italy formed, an
alliance.

(D) Germany, Japan and Italy formed an
alliance.

[Please Turn Over]
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Four words are given, out of which only one word
is spelt correctly. Choose the correctly spelt word.

11. (A) Sanctaries
(B) Sanctauries
(C) Santuaries
(D) Sanctuaries

12. (A) Apropriate
(B) Appropriate
(C) Appropriete

(D) Approprite

13. (A) Nacessary
(B) Neccesary
(C) Necessary

(D) Necessari

14. (A) Superstition
(B) Supertition
(C) Superstution

(D) Soperstition

15. (A) Discoss
(B) Disscuss
(C) Discus

(D) Discuss

The sentences given with blanks are to be filled with
an appropriate word(s). Four alternatives are
suggested for each question. For each question,
choose the correct alternative.

16. You will have to work
the office.

(A) as long as
(B) as good as
(C) as far as
(D) so far as

you are in

A-4

17. You must abide orders.
(A) to
(B) by
(C) for

(D) from

Write one word substitution for the following:
18. One who knows everything
(A) Omnipotent
(B) Omniscient
(C) Omnipresent
(D) Omnilogos

19. One who makes an official examination of
accounts
(A) Comptroller
(B) Auditor
(C) Accountant
(D) Banker

20. One who is filled with excessive enthusiasm in
religious matters

(A) Fugitive
(B) Gourmand
(C) Fanatic
(D) Atheist

21. One who hates mankind
(A) Misogynist

(B) Misanthrope

(C) Misogamist

(D) Mercenary



22. A person who walks in sleep
(A) Somnambulist
(B) Stoic
(C) Recluse
(D) Narcissist

Choose the alternative which best expresses the

meaning of the idiom/phrases in underlines:

23. It was her maiden speech on the stage and she

performed well.
(A) unprepared speech
(B) sudden
(C) primary speech
(D) first speech

speech

PART - II : BENGALI

26. TP = ‘P fafife S’ — i e 0
(A) ST a3
(B) 7% Oz A
(C) Torsnw Fsfuras sy
(D) Foi% e ST

27. SNIST = S AN — (I A ?
(A) Fsfuram s
(B) ey
(C) o= 7
(D) fae s

28. Wi = WS I’ — @ e
(A) O=2[F3 7AIH
(B) faw i
(C) Ty m
(D) IR

SEC

24. The detective went abroad in search of a
culprit but his journey proved to be a wild goose

. chase.

(A) expensive

(B) full of difficulties

(C) unprofitable expenditure
(D) ill advised

25. To take after

(A) to resemble
(B) to remove
(C) to cheat

(D) to write down

29. W = Ficz bfers i — ot s 2
(A) SGOTTAIA YR T
(B) 9% O3 W
(C) Toim afiiaa ey
(D) o iy AN

30. WFS = ‘GF T — (I T ?
(A) 78 TR A
(B) T S5z A
(C) o ST A
(D) @IHEaz

31. @RIAFEGHAE?
(A) wfEBrRe
(B) WD
(C) sffoat
(D) w3

Total Marks : 25



SEC

32. @ WD A
(A) T
(B) T
(©) o
(D) T

33, @ADL A
(A) =7a
(B) FaFe
(C) TS
(D) F2FS

34, @WANWG A
(A) SwiAm
(B) TaHiwy
(C) Tmifm
(D) @Ay

35. @WARWHABF?
(A) =fZd=
(B) *nAfss
(C) =
(D) *fafzs

Ao i 72w o vifFada (R care fRramd) ¢

36. (A) SR — AR
(B) SHTH* — ST
(C) Torl — &foe
(D) Twy — Twdlt

A-6

37. (A) T2 —enifd®
(B) Terirr — TR
(C) Toiprm — Toiioa
(D) Traw — Earfie

38. (A) W€ — 7Y
(B) ON¥ — &+
(C) ¥ — Y
(D) o€ — Se

39. (A) Tea —Tge
(B) gz — Tuiike
(C) Tt — Tomfie
(D) Tofa — Toiea

40. (A) &z¢ — g7
(B) oz — if%e
(C) oze — 2fE®
(D) ozt — &¥

AFACRGA BCA S
41. RO FEIIE IY RSN —
(A) oifarefis
(B) ffrefaz
(C) ==
(D) @WbE

42. ST Bledm —
(A) &
B) &I

(©) 3=
(D) @R



43. SRR
(A) TSR
(B) wiffered«
(C) =it
(D) @Ry

44, ifsm o waw =1 7
(A) PTers
(B) wfsram
(C) F=ifsry
(D) @wIbRAT

45. =% @ IR I A
(A) TER
(B) 3o
(C) forear®t
(D) @R

o (o1t 8
46. P
(A) =naw
(B) e
(C)
(D) ==

51. One number is 25% of another number. The
larger number is 12 more than the smaller. The large

numberis

(A) 48
(B) 16
(€4

(D) 12

47. =@
(A) I
(B) @
(C) s
(D) ™

48. TFF
(A) &
(B) =9t
(©) ==
(D) 7|

49, et
(A) 7

(B) =R
(C) «at

(D) M=

50. @I
(A) ™
(B) =@
(C) e

(D) G

Part-III : ARITHMETIC

expenditure is (in Rs.)
(A) 3600
(B) 2400
(C) 6400
(D) 6000

SEC

Total Marks : 25

52. A person spends 2/3rd of his income and is
able to save Rs. 3200 per month. His per month



SEC

53. If the simple interest on Rs. 400 for 10 years is
Rs. 280, then rate of interest per annum is

(A) 7%

(B) 7% %
(C) 7% %
(D) 8% %

54. The average age of eight teachers in a school is
40 years. A teacher among them died at the age of 55
years whereas another teacher whose age was 39 years
joins them. The average age of the teachers in the school
now is (in years)

(A) 35
(B) 36
(C) 38
(D) 39

55. The sum of two positive integers is 80 and
difference between them is 20. Then what is difference
of squares of those numbers ?

(A) 1400
(B) 1600
(C) 1800
(D) 2000

56. If MASON is coded as NBTPO, then WORLD
is coded as

(A) XPSME
(B) PSMEX
(C) SMEXP
(D) EXPSM

57. Inaschool there are 2000 students, 40% of them
are girls. Monthly fee of each boy is 400 and fee of each
girl is 25% less than that of a boy. The sum of fees of
boys and girls is

(A) Rs.7,20,000
(B) Rs.72,000

(C) Rs.3,60,000
(D) Rs.1,20,000

58. The time for a train of length 130 metres running
at the speed of 72 km/hr to cross a bridge of length 150
metres is

(A) 9 sec
(B) 121 sec
(C) 13 sec
(D) 14 sec

59. Speed of a boat in still water is 4km/hr and the
speed of currentis 1km/hr. What time it will take to cover
20km if the boat moves in the direction of the
current?

(A) 4 hr
(B) 3 hr
(C) 2 hr
(D) 1 hr

60. Ganesh, Ram and Sohan together can complete a
work in 16 days. If Ganesh and Ram together can
complete the same work in 24 days, the number of
days Sohan alone takes, to finish the work is

(A) 40
(B) 48
(C) 32
(D) 30

61. A shop keeper allows 20% discount on the
marked price on his articles. Find the marked price of an
article for which he charges Rs. 7407

(A) Rs. 725
(B) Rs. 875
(C) Rs. 925
(D) Rs. 1040

62. The 4th term of the following alphabet series
ZXYM, VTUS, RPQO, _, JHIG is

(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK



A-9

63. The average age of A, B is 51 years. If A is 2
years older than B then the present ages of A, B are
( in year)

(A) 52,50
(B) 54, 51
(©) 50,52
(D) 48, 51

64. The given pie chart have shows the spendings
of a country on various sports during a year. Study
the graph and answer the following questions.

If the total amount spent on sports during the year
was Rs.15,000,000, the amount spent on cricket and
hockey together was

(A) Rs. 60,00,000
(B) Rs. 50,00,000
(C) Rs. 37,50,000
(D) Rs. 75,00,000

- 65. IfA:B=4:5andB:C=10:1'?,thenA:C
is

(A) 4:17

(B) 8:47

() 2513

(B9 17

SEC

66. Complete the series
30815, .35
(A) 19
(B) 21
(©) 24
(D) 28

67. There are 1400 students in a school, 25% of those
wear spectacles and 2/7 of those wearing spectacles are
boys. How many girls in the school wear spectacles?

(A) 250
(B) 100
(C) 200
(D) 300

68. A man bought 4 dozen eggs at Rs. 24 per dozen
and 2 dozen eggs at Rs. 32 per dozen. To gain 20% on
the whole, he should sell the eggs at

(A) Rs.16 per dozen
(B) Rs.21 per dozen
(C) Rs.32 per dozen
(D) Rs.35 per dozen

69. P'ssalary is 25% higher than Q, what percentage
is Q's salary lower than that of P?

(A) 20
(B) 29
(€) 31
(D) 331/3

70. A, B and C can work together for Rs. 550,

A and B together are to do 7/11 of the work. The
share of C should be

(A) Rs. 200
(B) Rs. 300
(C) Rs. 400
(D) Rs. 450
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71. AABC is an equilateral triangle, if its height is
3V3 then find its length.

. (A) 3 cm
(B) 6cm
(C) 9cm
(D) 5cm

72. The price of a chair is Rs. 500. It has been sold at
two successive discounts of 10% each. What is its
selling price?

(A) Rs. 400
(B) Rs. 405
(C) Rs.415
(D) Rs. 425

73. The per cent profit made when an article is
sold for Rs. 78 is twice as much as when it is sold for
Rs. 69, the cost price of the article is

(A) Rs. 60
(B) Rs. 51
(C) Rs. 55:50
(D) Rs. 70

PART - IV : GENERAL KNOWLEDGE

76. Who has been recently appointed as the
Chairperson of the National Green Tribunal (NGT)?

(A) Justice Adarsh Kumar Goel
(B) Justice Swatanter Kumar
(C) Justice Soumitra Sen

(D) None of them

77. Who was the first Nobel prize winner in India?
(A) C.V.Raman
(B) Rabindranath Tagore
(C) Amartya Sen
(D) None of them

A-10

74. In a village panchayat society 600 names are
enlisted as ‘below poverty level’. If 20% of the
villagers are below poverty level, the total number of
villagers is

(A) 4100
(B) 4200
(C) 4000
(D) 3000

75. It costs Re. 1 to photocopy a sheet of paper.
However, 2% discount is allowed on all photocopies
done after first 1000 sheets. How much will it cost to
copy 5000 sheets of paper ?

(A) Rs. 3920
(B) Rs. 3980
(C) Rs.4900
(D) Rs. 4920

Total Marks : 10

78. What is the chemical formula for oxygen?
(A) O,
(B) O,
©) 0O,
(D) O,

79. In India the Repo rate is announced by
(A) the Ministry of Finance, Government of
India

(B) the Prime Minister of India
(C) the Reserve Bank of India
(D) the President of India



80.

81.

82.

BHIM app can be used to

(A) locate monuments

(B) make cashless payments
(C) sign digital records

(D) None of the above

The highest peak in India K2 is also known as
(A) Karakoram

(B) Kashmir

(C) Godwin Austin

(D) Kenneth

Give full form of SHGs.
(A) Self House Groups
(B) Self Healthy Groups
(C) Self Held Groups
(D) Self Help Groups

A-11

SEC

83. Which fruit was recently declared as State Fruit
of Tripura?

84.

(A) Queen Pineapple

(B) Alphonso Mango
(C) Jackfruit

(D) None of the above

The National Song of India “Vande Mataram”

was written by

85.

(A) Lala Lajpat Rai

(B) Rabindranath Tagore

(C) Bankim Chandra Chattopadhyay
(D) Tulsidas

Which river is known as ‘Sorrow of Bengal’?
(A) Teesta

(B) Bhagirathi

(C) Mahananda

(D) Damodar
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Part -1 : ENGLISH

In the following question, out of the four
alternatives, choose the word which best expresses
the meaning of the given word:

l.

2.

Command
(A) Lead

(B) Instruct
(C) Manage
(D) Supervise

Forsaken

(A) Nurtured
(B) Neglected
(C) Pardoned
(D) Abandoned

Change the given sentences from Active into Passive.

3

The cat killed the mouse.

(A) The mouse has killed by the cat.

(B) The mouse was killed by the cat.

(C) The mouse was killed the cat.

(D) The mouse was been killed by the cat.

Why did your brother write such a letter?
(A) Why was letter write by your brother?
(B) Why was such a letter writted by brother?

(C) Why was such a letter written by your
brother?

(D) Why was such a letter written as by your
brother?

He will finish the work in a fortnight.

(A) The work will be finished by him in a
fortnight.

(B) The work finished him in a fortnight.
(C) The work finished by him in fortnight.
(D) The work will be finished fortnight.

B-3

6.

9.

10.

SEC
Total Marks : 25

In the following question, out of the four alterna-
tives, choose the word which is opposite in meaning
to the given word.

Concise

(A) Intended
(B) Short

(C) Protracted
(D) Elongated

Prudent
(A) Silly
(B) Unwise
(C) Idiotic
(D) Poor

FLUENT

(A) Insult

(B) Inarticulate
(C) Internal
(D) Insensitive

Put Comma at appropriate places:

(A) Germany, Japan, and Italy formed an
alliance.

(B) Germany, Japan and, Italy formed an
alliance.

(C) Germany, Japan and Italy formed, an
alliance.

(D) Germany, Japan and Italy formed an
alliance.

(A) Pandit Nehru the first Prime Minister of
India died in 1964.

(B) Pandit Nehru, the first Prime Minister of
India, died in 1964..

(C) Pandit Nehru the first Prime Minister, of
India died in 1964..

(D) Pandit Nehru, the first Prime Minister of
India died in 1964,

[Please Turn Over]
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Four words are given, out of which only one word
is spelt correctly. Choose the correctly spelt word.

11. (A) Discoss
(B) Disscuss
(C) Discus
(D) Discuss

12. (A) Superstition
(B) Supertition
(C) Superstution
(D) Soperstition

13. (A) Nacessary
(B) Neccesary
(C) Necessary
(D) Necessari

14. (A) Sanctaries
(B) Sanctauries
(C) Santuaries
(D) Sanctuaries

15. (A) Apropriate
(B) Appropriate
(C) Appropriete
(D) Approprite

The sentences given with blanks are to be filled with
an appropriate word(s). Four alternatives are
suggested for each question. For each question,
choose the correct alternative.

16. You must abide orders.
(A) to
(B) by
(C) for
(D) from

17. You will have to work
the office.

(A) as long as
(B) as good as
(C) as far as
(D) so far as

you are in

Write one word substitution for the following:

18. One who hates mankind
(A) Misogynist
(B) Misanthrope
(C) Misogamist
(D) Mercenary

19. A person who walks in sleep
(A) Somnambulist
(B) Stoic
(C) Recluse
(D) Narcissist

20. One who knows everything
(A) Omnipotent
(B) Omniscient
(C) Omnipresent
(D) Omnilogos

21. One who makes an official examination of

accounts
(A) Comptroller
(B) Auditor
(C) Accountant
(D) Banker



22. One who is filled with excessive enthusiasm in
religious matters
(A) Fugitive
(B) Gourmand
(C) Fanatic
(D) Atheist

Choose the alternative which best expresses the
meaning of the idiom/phrases in underlines:

23. The detective went abroad in search of a
culprit but his journey proved to be a wild goose
chase.

(A) expensive

(B) full of difficulties

(C) unprofitable expenditure
(D) ill advised

B-5
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24. It was her maiden speech on the stage and she

performed well.

(A) unprepared speech

(B) sudden

speech

(C) primary speech
(D) first speech

25, To take after

(A) to resemble

(B) to remove

(C) to cheat

(D) to write down

PART - II : BENGALI

29. @HANFHAGE?

26. "o = HITS FAND — (e 7 2
(A) ST A
(B) faw s
(C) wfyraa=u
(D) FLRIRAIHA

27. WAL HADE?
(A) @vHH
(B) Ay
(C) Twifm
(D) @ty

28. 2ANISA = S AN — I 7 2
(A) IR
(B) fAeysam
(C) O
(D) faw 1w

“uf

(A) iz
(B) =iz
(C) =R
(D) *fafss

Total Marks : 25

30, SIS = ‘9T TH — I AR 2
(A) 748 TR TR

(B) 9% S35 71
(C) ol S7§Fa T

(D) @GR

31. @I AT

(A) T
(B) T
(C) T
(D) T



SEC

32.

33.

34.

3s.

fieerm = Ficg s wrm — o a2
(A) SgARTAIA ez T

(B) 9% ©eozFa W%

(C) Totstiw fgraa i

(D) o FfYraa

@R AWD FAdwe
(A) e
(B) FaFe!
(C) Tl
(D) FaFS

@ WG Afdw e
(A) Wbt
(B) wab
(C) fafo=l
(D) Wbt

PP = P fAfife s — Gt T 2
(A) TowaTat sl 7

(B) FH% Oz

(C) Torstte Fwafgtam 51y

(D) e Ffaiae T

Ao o # o ow Afdada (R cars Reerae) 2

36.

(A) Tng— enifas
(B) Tz — TeAifze
(C) Toibia— Toi51a
(D) Tnzw — Taifie

37.

38.

39.

40.

(A) Tga —Tge

(B) Ty — TuiiRe
(C) Tomt — Tomifie
(D) Tomfd — Toterg

(A) € — TE
(B) & — &+
(C) O¥ —
(D) &% — ¥

(A) 2% — 2iry
(B) ozt — ifEe
(C) oz — aiifZe
(D) oz — o

(A) wiTaTEs — aAiEe
(B) ST — SIS
(C) T — &z

(D) Tww — Twilt

AFATSIOA AL ¢
41. =ifi o agw 71 7

(A) prICerSt
(B) wifsrardit
(C) F=ifa=m
(D) @HEa"

42. IR A IE R

(A) FHR

(B) ¥

(C) fregdt
(D) @R




43. ~fATeR IR AT RN W —
(A) ofiffrefis
(B) “fareit=
(C) 73R
(D) Wb

44. sfraRIRT
(A) wE-A
(B) wiffrera«
(C) i
(D) @R

45. ST Sl —
(A) &
(B) &5
(©) 3=
(D) @R

o (719 3
46. *ow
(A) T
(B) =
(C) =new
(D) #w

51. The 4th term of the following alphabet series

ZXYM, VTUS, RPQO, _____, JHIG is
(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK

B-7
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47. @A
(A) =
(B) af&
(C) Rge

(D) 79

48. st
(A) S
(B) S
(C) R
(D) ==

49, o7
(A) v&
(B) (9r@!
(©) ==
(D) 7

50. et

(A)
(B) R
(Cy =@t
(D) =

PARrT-III : ARITHMETIC Total Marks : 25

52. One number is 25% of another number. The
larger number is 12 more than the smaller. The large
number is

(A) 48
(B) 16
©) 4

(D) 12



SEC

53. P's salary is 25% higher than Q, what percent-
age is Q's salary lower than that of P?

(A) 20
(B) 29
(©) 31
(D) 331/3

54. Speed of a boat in still water is 4km/hr and the
speed of current is 1km/hr. What time it will take to cover
20km if the boat moves in the direction of the
current?

(A) 4 hr
(B) 3 hr
(©) 2hr
(D) 1hr

55, If MASON is coded as NBTPO, then WORLD
is coded as

(A) XPSME
(B) PSMEX
(C) SMEXP
(D) EXPSM

56. It costs Re. 1 to photocopy a sheet of paper.
However, 2% discount is allowed on all photocopies
done after first 1000 sheets. How much will it cost to
copy 5000 sheets of paper ?

(A) Rs. 3920
(B) Rs. 3980
(C) Rs. 4900
(D) Rs. 4920

57. The price of a chair is Rs. 500. It has been sold
at two successive discounts of 10% each. What is its
selling price?

(A) Rs. 400
(B) Rs. 405
(C) Rs. 415
(D) Rs. 425

58. The sum of two positive integers is 80 and
difference between them is 20. Then what is difference
of squares of those numbers ?

(A) 1400
(B) 1600
(C) 1800
(D) 2000

59. A man bought 4 dozen eggs at Rs. 24 per
dozen and 2 dozen eggs at Rs. 32 per dozen. To gain
20% on the whole, he should sell the eggs at

(A) Rs.16 per dozen
(B) Rs.21 per dozen
(C) Rs.32 per dozen
(D) Rs.35 per dozen

60. In a village panchayat society 600 names are
enlisted as ‘below poverty level’. If 20% of the
villagers are below poverty level, the total number of
villagers is

(A) 4100
(B) 4200
(C) 4000
(D) 3000

61. There are 1400 students in a school, 25% of
those wear spectacles and 2/7 of those wearing
spectacles are boys. How many girls in the school
wear spectacles?

(A) 250
(B) 100
(C) 200
(D) 300

62. The per cent profit made when an article is
sold for Rs. 78 is twice as much as when it is sold for
Rs. 69, the cost price of the article is

(A) Rs. 60
(B) Rs. 51
(C) Rs. 5550
(D) Rs. 70

P



63. The average age of eight teachers in a school
is 40 years. A teacher among them died at the age of
55 years whereas another teacher whose age was 39
years joins them. The average age of the teachers in
the school now is (in years)

(A) 35
(B) 36
(C) 38
(D) 39

64. If the simple interest on Rs. 400 for 10 years is
Rs. 280, then rate of interest per annum is
(A) 7%
B) 7%2 %
©C) 7% %
(D) 82 %

65. Complete the series
3, 8,15 35
(A) 19
(B) 21
(C) 24
(D) 28

¥ —_—

66. The given pie chart have shows the spendings
of a country on various sports during a year. Study
the graph and answer the following questions.

If the total amount spent on sports during the year
was Rs.15,000,000, the amount spent on cricket and
hockey together was

(A) Rs
(B) Rs
(C) Rs
(D) Rs

. 60,00,000
. 50,00,000
. 37,50,000
. 75,00,000

SEC

67. fA:B=4:5andB:C=10:17,then A:C
is

(A) 4:17
(B) 8:17
) 2:17
(D) 9:17

68. Ganesh, Ram and Sohan together can com-
plete a work in 16 days. If Ganesh and Ram together
can complete the same work in 24 days, the number
of days Sohan alone takes, to finish the work is

(A) 40
(B) 48
©) 32
(D) 30

69. In a school there are 2000 students, 40% of
them are girls. Monthly fee of each boy is 400 and fee
of each girl is 25% less than that of a boy. The sum
of fees of boys and girls is

(A) Rs.7,20,000
(B) Rs.72,000

(C) Rs.3,60,000
(D) Rs.1,20,000

70. The average age of A, B is 51 years. If A is 2
years older than B then the present ages of A, B are
( in year)

(A) 52,50
(B) 54, 51
(C) 50,52
(D) 48, 51
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71. A, B and C can work together for Rs. 550,
A and B together are to do 7/11 of the work. The
share of C should be

(A) Rs. 200
(B) Rs. 300
(C) Rs. 400
(D) Rs. 450

72. A person spends 2/3rd of his income and is
able to save Rs. 3200 per month. His per month
expenditure is (in Rs.)

(A) 3600
(B) 2400
(C) 6400
(D) 6000

73. The time for a train of length 130 metres
running at the speed of 72 km/hr to cross a bridge of
length 150 metres is

(A) 9 sec
(B) 12-1 sec
(C) 13 sec
(D) 14 sec

PArT -1V : GENERAL KNOWLEDGE

76. Which river is known as ‘Sorrow of Bengal’?
(A) Teesta
(B) Bhagirathi
(C) Mahananda
(D) Damodar

77. What is the chemical formula for oxygen?
(A) O,
(B) O,
(©) o,
(D) O,

74. A shop keeper allows 20% discount on the
marked price on his articles. Find the marked price of an
article for which he charges Rs. 740?

(A) Rs. 725
(B) Rs. 875
(C) Rs. 925
(D) Rs. 1040

75. AABC is an equilateral triangle, if its height is
3v3 then find its length.

(A) 3 cm
(B) 6 cm
(C) 9cm
(D) 5cm

Total Marks : 10

78. The National Song of India “Vande Mataram”
was written by

(A) Lala Lajpat Rai

(B) Rabindranath Tagore

(C) Bankim Chandra Chattopadhyay
(D) Tulsidas

79. Who was the first Nobel prize winner in India?
(A) C. V. Raman
(B) Rabindranath Tagore
(C) Amartya Sen
(D) None of them



80.

81. Which fruit was recently declared as State

Give full form of SHGs.
(A) Self House Groups
(B) Self Healthy Groups
(C) Self Held Groups
(D) Self Help Groups

Fruit of Tripura?

82.

(A) Queen Pineapple

(B) Alphonso Mango

(C) Jackfruit

(D) None of the above

BHIM app can be used to
(A) locate monuments

(B) make cashless payments
(C) sign digital records

(D) None of the above

B-11

83.

SEC

Who has been recently appointed as the

Chairperson of the National Green Tribunal (NGT)?

84.

85.

(A) Justice Adarsh Kumar Goel
(B) Justice Swatanter Kumar
(C) Justice Soumitra Sen

(D) None of them

The highest peak in India K2 is also known as
(A) Karakoram

(B) Kashmir

(C) Godwin Austin

(D) Kenneth

In India the Repo rate is announced by

(A) the Ministry of Finance, Government of
India

(B) the Prime Minister of India
(C) the Reserve Bank of India
(D) the President of India
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Answer all the questions.

9 e 6 91 5 All questions carry 1 mark each.
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&7 (@7 i AT AT S P o
et
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MY e JBFE TG FA0E JY T IR 97 AR oA @A WIRGE CFC T @I SR T O G
FfEarwera wisif Feoefera willt e |

OMR Te&z+ta @ ‘Bar Code’ ®ll Stz St @IA! Wil (wedt 3t @it e ot 2 =, wwyen aidfim a1fiem afes =@
M| OMR Tezoall S1& Fa03w 7l I SIS S S+ (@] W5 ¢ |

-G 2o v Ar 4 w3 Ten ewt Witz Tewefd A, B, C ¢ D @3 4% 3uwafe 2 firy s w1 winm afef
ol W e oge @R el Wee 46 Teraw W e Terl® argn | OMR Teweng ool e Fhms ke wepia WS 3ed
e op e eAl 39 | Tea e Faam e @wemia e/ Ffem @@ oS (o (Black/Blue Ink Ball Point Pen)
[ T |

@ @3 AR 2o Ter AR 3 Teren waifts g8 w3t T W OE o v Ter o sfefie =@

W @A 2ve ‘B’ Afw Tew @, o fry awffe Soim B aw o

s s @ @O @
s @ OO T

o

epai-sifeta CivaR Wi wel ATAreTs WP TS F0EE (Rough work) & AR A0S SN | el st e fire
A A

FTHR AT AW TGRYRTEA TS AW OMR Tezoials et reaw | oo vl FE @Y (R |

Teeiala fewm w31 Zare TS WM FOREE SrRer | Toitam e @3t OMR Teremm awie s
TSI PR 7 FACE G% PR I T2 2 Go7d | @& Trd ojferna weppe @t o@ AR pore =% «fmwiding o3|

QA ATWTT @RITA @, FEFEDT WA (A AIEE ZERRAT D TIT I S i3 |
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_PAliT - I : ENGLISH

In the following question, out of the four
alternatives, choose the word which best expresses
the meaning of the given word:

1-

2.

Command
(A) Lead

(B) Instruct
(C) Manage
(D) Supervise

Forsaken

(A) Nurtured
(B) Neglected
(C) Pardoned
(D) Abandoned

Change the given sentences from Active into Passive.

3.

5.

Why did your brother write such a letter?
(A) Why was letter write by your brother?
(B) Why was such a letter writted by brother?

(C) Why was such a letter written by your
brother?

(D) Why was such a letter written as by your
brother?

He will finish the work in a fortnight.

(A) The work will be finished by him in a
fortnight.

(B) The work finished him in a fortnight.
(C) The work finished by him in fortnight.
(D) The work will be finished fortnight.

The cat killed the mouse.

(A) The mouse has killed by the cat.

(B) The mouse was killed by the cat.

(C) The mouse was killed the cat.

(D) The mouse was been killed by the cat.

C-3
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Total Marks : 25

In the following question, out of the four alterna-

tives, choose the word which is opposite in
meaning to the given word.
6. Prudent

(A) Silly
(B) Unwise
(C) Idiotic
(D) Poor

7. FLUENT
(A) Insult
(B) Inarticulate
(C) Internal
(D) Insensitive

8. Concise
(A) Intended
(B) Short
(C) Protracted
(D) Elongated

Put Comma at appropriate places:

9. (A) Pandit Nehru the first Prime Minister of

India died in 1964.

(B) Pandit Nehru, the first Prime Minister of

India, died in 1964..

(C) Pandit Nehru the first Prime Minister, of

India died in 1964..

(D) Pandit Nehru, the first Prime Minister of

India died in 1964.

10. (A) Germany, Japan, and Italy formed an

alliance.

(B) Germany, Japan and, Italy formed an

alliance.

(C) Germany, Japan and Italy formed, an

alliance.

(D) Germany, Japan and Italy formed an

alliance.

[Please Turn Over]
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Four words are given, out of which only one word
is spelt correctly. Choose the correctly spelt word.

11.

12.

13-

14,

15.

(A) Discoss
(B) Disscuss
(C) Discus

(D) Discuss

(A) Sanctaries
(B) Sanctauries
(C) Santuaries
(D) Sanctuaries

(A) Nacessary
(B) Neccesary
(C) Necessary
(D) Necessari

(A) Apropriate
(B) Appropriate
(C) Appropriete
(D) Approprite

(A) Superstition
(B) Supertition

(C) Superstution
(D) Soperstition

The sentences given with blanks are to be filled with
an appropriate word(s). Four alternatives are
suggested for each question. For each question,
choose the correct alternative.

16. You will have to work you

are in the office.

(A) as long as
(B) as good as
(C) as far as
(D) so far as

C-4

17.

You must abide

orders.
(A) to

(B) by

(C) for

(D) from

Write one word substitution for the following:

18.

19.

20.

21.

A person who walks in sleep
(A) Somnambulist

(B) Stoic

(C) Recluse

(D) Narcissist

One who hates mankind
(A) Misogynist

(B) Misanthrope

(C) Misogamist

(D) Mercenary

One who knows everything
(A) Omnipotent

(B) Omniscient

(C) Omnipresent

(D) Omnilogos

One who is filled with excessive enthusiasm in

religious matters

(A) Fugitive
(B) Gourmand
(C) Fanatic
(D) Atheist



22. One who makes an official examination of

accounts

(A) Comptroller
(B) Auditor
(C) Accountant
(D) Banker

Choose the alternative which best expresses the
meaning of the idiom/phrases in underlines:

23. To take after

(A) to resemble
(B) to remove
(C) to cheat

(D) to write down

PaArT-11

26. FicarEm = ‘Fitg HEFS wFF — @ 7 ?

27.

28.

(A) TG FufaraE T
(B) 9% SozFa W

(C) Tofanie Fsfura 7
(D) o U A

RS = G T — (IR T 2
(A) ¥R OLoF T

(B) 4% O8I

(C) o Teo[TFa I

(D) rAbEaT

ANIGT = S &N — (I HAH ¢
(A) FfYIRE

(B) faeyam

(C) ©of%3 T

(D) faw s

C-5

24.
culprit but his journey proved to be a wild goose
chase.

25.
performed well.

: BENGALI

29.

30.

SEC

The detective went abroad in search of a

(A) expensive

(B) full of difficulties

(C) unprofitable expenditure
(D) ill advised

It was her maiden speech on the stage and she

(A) unprepared speech

(B) sudden speech

(C) primary speech

(D) first speech

Total Marks : 25

iR WD AT 2
(A) Swiste
(B) Taiiy
(C) Tmifm
(D) @WAW

W IR AT 2
(A) *IfEde
(B) =iz
(C) =T
(D) =3

31. @A AT

(A) wfabiet
(B) waB=
(C) wffo=t
(D) w3
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32, Wreelfs = WS B — W A ¢
(A) TR FA
(B) faw s
(C) Ffurzg
(D) FESEH

33. @WIANFDAE?
(A) wTE
(B) axe!
(C) FZTS!
(D) TT!

34, @0 HAIE?
(A) T
B) T
(©)
(D) T

35, P = ‘I ffifs wpe — @ T ¢
(A) TYIARTEIA T 7
(B) % Lo T
(C) Tofaw Fsfurag 7%
(D) T YT 7%

eva b A oin oiffads (R cure fRrerae) »
36. (A) o= — 2y
(B) ot — e
(C) &=zt — aifge
(D) o=t — &%

37. (A) T — ewifzz
(B) Tz — TewiifRe
(C) Toi5ra — Toifsia
(D) Tm — Twifie

38. (A) SRR — SRS
(B) ST — SIS
(C) T — Az
(D) Ty — Twdlt

39, (A) ¥ — OE
(B) € — S+
(C) T8 — =Y
(D) =¥ — W

40. (A) Tg3 —Tge
(B) Tgr — TgilRe
(C) Tt — Tomifire
(D) Tt — Totes

FFALIOAILAI S
41. S IR IJT I
(A) TR
(B) g
(€) frsa®
(D) @TAIDE=

42, HAfATOR AR IR HEWN T —
(A) iffrefs
(B) “fRrefis
(OR-CE]
(D) @wbEwT

———



43. wifim e w71 Tl
(A) Prcers!
(B) wnfrmt
(C) ==
(D) AR

44. SfaRIR
(A) %2
(B) wifwerezv
(C) s
(D) @GR

45, S Sledrm —
(A) &
(B) @@
(C) 3=fe
(D) ibEww

wef o 3
46. o
(A)
(B) c=rel
(C) 7=
(D) 7

Part-1III: ARITHMETIC

51. In a school there are 2000 students, 40% of
them are girls. Monthly fee of each boy is 400 and fee
of each girl is 25% less than that of a boy. The sum
of fees of boys and girls is

(A) Rs.7,20,000
(B) Rs.72,000

(C) Rs.3,60,000
(D) Rs.1,20,000

C-7
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47. oW
(A) wew
(B) et
(C) =
(D) ==t

48. cfat
(A)
(B) e
(C)
(D) g

49. o7

(A) I
(B)
(C) s
(D) =7

50. 7@

(A) @
(B) @f&

(C) Rge

(D) 9

Total Marks : 25

52. The price of a chair is Rs. 500. It has been sold
at two successive discounts of 10% each. What is its
selling price?

(A) Rs. 400
(B) Rs. 405
(C) Rs.415
(D) Rs. 425
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53. P's salary is 25% higher than Q, what percent-
age is Q's salary lower than that of P?

(A) 20
(B) 29
(C) 31
(D) 331/3

54. The 4th term of the following alphabet series
ZXYM, VTUS, RPQO, , JHIG is

(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK

55. The time for a train of length 130 metres
running at the speed of 72 km/hr to cross a bridge of
length 150 metres is

(A) 9 sec
(B) 121 sec
(C) 13 sec
(D) 14 sec

56. fA:B=4:5andB:C=10:17,then A:C
18
(A) 4:17
(B) 8:17
(cy 2 317
(B) 9417

57. If MASON is coded as NBTPO, then WORLD
is coded as

(A) XPSME
(B) PSMEX
(C) SMEXP
(D) EXPSM

58. If the simple interest on Rs. 400 for 10 years is
Rs. 280, then rate of interest per annum is

(A) 7%

B) 72 %
©C) 7% %
(D) 82 %

59. The sum of two positive integers is 80 and
difference between them is 20. Then what is difference
of squares of those numbers ?

(A) 1400
(B) 1600
(C) 1800
(D) 2000

60. A person spends 2/3rd of his income and is
able to save Rs. 3200 per month. His per month
expenditure is (in Rs.)

(A) 3600
(B) 2400
(C) 6400
(D) 6000
61. The given pie chart have shows the spendings

of a country on various sports during a year. Study
the graph and answer the following questions.

If the total amount spent on sports during the year
was Rs.15,000,000, the amount spent on cricket and
hockey together was

(A) Rs. 60,00,000
(B) Rs. 50,00,000
(C) Rs. 37,50,000
(D) Rs. 75,00,000

k= %



62. Speed of a boat in still water is 4km/hr and the
speed of current is 1km/hr. What time it will take to cover
20km if the boat moves in the direction of the
current?

(A) 4 hr
(B) 3 hr
(C) 2hr
(D) 1 hr

63. One number is 25% of another number. The
larger number is 12 more than the smaller. The large
numberis

(A) 48
(B) 16
©) 4

(D) 12

64. A, B and C can work together for Rs. 550,
A and B together are to do 7/11 of the work. The
share of C should be

(A) Rs. 200
(B) Rs. 300
(C) Rs. 400
(D) Rs. 450

65. AABC is an equilateral triangle, if its height is
33 then find its length.

(A) 3 cm
(B) 6 cm
(C) 9cm
(D) 5cm

66. The average age of A, B is 51 years. If A is 2
years older than B then the present ages of A, B are
(in year)

(A) 52,50
(B) 54, 51
(C) 50,52
(D) 48, 51

SEC

67. It costs Re. 1 to photocopy a sheet of paper.
However, 2% discount is allowed on all photocopies
done after first 1000 sheets. How much will it cost to
copy 5000 sheets of paper ?

(A) Rs. 3920
(B) Rs. 3980
(C) Rs. 4900
(D) Rs. 4920

68. A shop keeper allows 20% discount on the
marked price on his articles. Find the marked price of an
article for which he charges Rs. 7407

(A) Rs. 725
(B) Rs. 875
(C) Rs. 925
(D) Rs. 1040

69. Ganesh, Ram and Sohan together can com-
plete a work in 16 days. If Ganesh and Ram together
can complete the same work in 24 days, the number
of days Sohan alone takes, to finish the work is

(A) 40
(B) 48
(©) 32
(D) 30

70. There are 1400 students in a school, 25% of
those wear spectacles and 2/7 of those wearing
spectacles are boys. How many girls in the school
wear spectacles?

(A) 250
(B) 100
(C) 200
(D) 300

71. Complete the series
385 35
(A) 19
(B) 21
(C) 24
(D) 28
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72. The per cent profit made when an article is
sold for Rs. 78 is twice as much as when it is sold for
Rs. 69, the cost price of the article is

(A) Rs. 60
(B) Rs. 51
(C) Rs. 55:50
(D) Rs. 70

73. A man bought 4 dozen eggs at Rs. 24 per
dozen and 2 dozen eggs at Rs. 32 per dozen. To gain
20% on the whole, he should sell the eggs at

(A) Rs.16 per dozen
(B) Rs.21 per dozen
(C) Rs.32 per dozen
(D) Rs.35 per dozen

PART - IV : GENERAL KNOWLEDGE

76. Give full form of SHGs.
(A) Self House Groups
(B) Self Healthy Groups
(C) Self Held Groups
(D) Self Help Groups

77. Who has been recently appointed as the
Chairperson of the National Green Tribunal (NGT)?

(A) Justice Adarsh Kumar Goel
(B) Justice Swatanter Kumar
(C) Justice Soumitra Sen

(D) None of them

C-10

74. The average age of eight teachers in a school
is 40 years. A teacher among them died at the age of
55 years whereas another teacher whose age was 39
years joins them. The average age of the teachers in
the school now is (in years)

(A) 35
(B) 36
(C) 38
(D) 39

75. In a village panchayat society 600 names are
enlisted as ‘below poverty level’. If 20% of the
villagers are below poverty level, the total number of
villagers is

(A) 4100
(B) 4200
(C) 4000
(D) 3000

Total Marks : 10

78. Which fruit was recently declared as State
Fruit of Tripura?

(A) Queen Pineapple

(B) Alphonso Mango
(C) Jackfruit

(D) None of the above

79. BHIM app can be used to
(A) locate monuments
(B) make cashless payments
(C) sign digital records
(D) None of the above
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80. Who was the first Nobel prize winner in India?

(A) C. V. Raman

(B) Rabindranath Tagore
(C) Amartya Sen

(D) None of them

81. The highest peak in India K2 is also known as

(A) Karakoram
(B) Kashmir

(C) Godwin Austin
(D) Kenneth

82. The National Song of India “Vande Mataram”
was written by

(A) Lala Lajpat Rai

(B) Rabindranath Tagore

(C) Bankim Chandra Chattopadhyay
(D) Tulsidas

83.

84.

85.

SEC

Which river is known as ‘Sorrow of Bengal’?
(A) Teesta

(B) Bhagirathi

(C) Mahananda

(D) Damodar

In India the Repo rate is announced by

(A) the Ministry of Finance, Government of
India

(B) the Prime Minister of India
(C) the Reserve Bank of India
(D) the President of India

What is the chemical formula for oxygen?
(A) O,
(B) O,
(©) 0,
(D) O,
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PArT -1 : ENGLISH Total Marks : 25

In the following question, out of the four In the following question, out of the four alterna-
alternatives, choose the word which best expresses tives, choose the word which is opposite in

the meaning of the given word: meaning to the given word.
1. Command 6. FLUENT
(A) Lead (A) Insult
(B) Instruct (B) Inarticulate
(C) Manage (C) Internal
(D) Supervise (D) Insensitive
7. Concise
2. Forsaken (A) Intended

(A) Nurtured
(B) Neglected
(C) Pardoned
(D) Abandoned

(B) Short
(C) Protracted
(D) Elongated

8. Prudent
Change the given sentences from Active into Passive. (A) Silly
3. Why did your brother write such a letter? (B) Unwise
» (A) Why was letter write by your brother? (C) Idiotic
(D) Poor

(B) Why was such a letter writted by brother?

(C) Why was such a letter written by your Put Comma at appropriate places:

brother?
(D) Why was such a letter written as by your 9. (A) Germany, Japan, and Italy formed an
brother? alliance.

(B) Germany, Japan and, Italy formed an
alliance.

4. The cat killed the mouse. (C) Germany, Japan and Italy formed, an

(A) The mouse has killed by the cat. alliance.
(B) The mouse was killed by the cat. (D) Germany, Japan and Italy formed an
(C) The mouse was killed the cat. alliance.

(D) The mouse was been killed by the cat. . . 15
10. (A) Pandit Nehru the first Prime Minister of

India died in 1964.

5. He will finish the work in a fortnight. (B) Paiidit Nehiu, the first Peitne Ministes 6f

(A) The work will be finished by him in a India, died in 1964..

fortnight. (C) Pandit Nehru the first Prime Minister, of
(B) The work finished him in a fortnight. India died in 1964..
(C) The work finished by him in fortnight. (D) Pandit Nehru, the first Prime Minister of
(D) The work will be finished fortnight. India died in 1964.

[Please Turn Over]
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Four words are given, out of which only one word
is spelt correctly. Choose the correctly spelt word.
11. (A) Superstition
(B) Supertition
(C) Superstution
(D) Soperstition

12. (A) Discoss
(B) Disscuss
(C) Discus
(D) Discuss

13. (A) Nacessary
(B) Neccesary
(C) Necessary
(D) Necessari

14. (A) Sanctaries
(B) Sanctauries
(C) Santuaries
(D) Sanctuaries

15. (A) Apropriate
(B) Appropriate
(C) Appropriete
(D) Approprite

The sentences given with blanks are to be filled with
an appropriate word(s). Four alternatives are
suggested for each question. For each question,
choose the correct alternative.
16. You must abide orders.

(A) to

(B) by

(C) for

(D) from

D-4

17. You will have to work
are in the office.

(A) as long as
(B) as good as
(C) as far as
(D) so far as

accounts
(A) Comptroller
(B) Auditor
(C) Accountant
(D) Banker

19. A person who walks in sleep
(A) Somnambulist
(B) Stoic
(C) Recluse
(D) Narcissist

20. One who knows everything
(A) Omnipotent
(B) Omniscient
(C) Omnipresent
(D) Omnilogos

21. One who hates mankind
(A) Misogynist
(B) Misanthrope
(C) Misogamist
(D) Mercenary

you

Write one word substitution for the following:

18. One who makes an official examination of
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22. One who is filled with excessive enthusiasm in 24, To take after
religious matters (A) to resemble
(A) Fugitive (B) to remove
(B) Gourmand (C) to cheat
(C) Fanatic (D) to write down
(D) Atheist

Choose the alternative which best expresses the
meaning of the idiom/phrases in underlines:

23. The detective went abroad in search of a
culprit but his journey proved to be a wild goose
chase.

(A) expensive

25. It was her maiden speech on the stage and she
performed well.

(A) unprepared speech

(B) full of difficulties (B) sudden speech

(C) unprofitable expenditure (C) primary speech

(D) ill advised (D) first speech

PART - I1 : BENGALI Total Marks : 25

26. @WANWDADE? 29. @NINHDL A2

(A) b (A) SwAm

(B) wADRA (B) Twtsiey

(C) wffo=st (C) Twfm

(D) Wi (D) B
27. vireAlfl = e B — i T e 30. @=L AdTe

(A) Sz 3 (A) e

(B) T (B) we!

(C) fyram 7 (C) T27e!

(D) TR (D) 7773
28. TP = It ffife S — coie STaapi 2 31. &I = S AN — @ FAH 2

(A) TLGATCEAIR Fafarag s (A) Ffarag s

(B) 9% O T (B) ey

(C) Toaie aferara ST (C) SeozFR 7

(D) T LI T (D) faw =
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32. PR = Fice s s — e 7 2
(A) SARTETIAT sl 0
(B) 9% GLj3FE A
(C) Tt Ffraa ST
(D) ol fYIaa ST

33. @D ADE e
(A) T
(B) T
©)
(D)

34, @ INWHHAGE ¢
(A) =fas
(B) *iaifa=
(C) =AF=
(D) =fafes

35, S = ‘GF FT — (I FAH?
(A) 78 eI T
(B) 9% S A
(C) o TeozFs T
(D) IR

Meva @D 15w ow vifaads (R cars faperad) »
36. (A) &% — 2
(B) 2z — aiffe
(C) 2= — 2fge
(D) 2z — 23®

37.

38.

39.

40.

(A) T — enifa
(B) Tz — TerifRe
(C) Toi5ia — Toifbra
(D) Twgw — Cmifte

(A) Tg7 —Tge

(B) Tgr — TufRe
(C) Tomt — Tomifir®
(D) Tomfa — Totea

(A) SRR — SRS
(B) ST — ST
(C) Tw — ez

(D) Tva — Tt

(A) € — ST
(B) &€ — &
(C) o€ — =
(D) &% — S

AFITIGAICA &
41. wifiz ow = 1 7/

(A) gerd
(B) wnfa=mit
(C) frafarr
(D) DR

42, SRS —

(A) &

(B) &

(©) I=f®

(D) @I=bEwa
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43. ~HfAToR NI Y (reT T — 47. W
(A) “lifFrofRs (A) S
(B) “fareiEs (B) St
(C) 775 (C) et
(D) @@= (D) T
44, wimaR IR g
(A) SEI % oo
(B) wiifrers@e
(B) carel
(C) i ©) @
(D) IR (D) 7
45, S IR [ IE A
(A) T 49, =
(B) i (A)
(C) freaR (B) e
(D) @R (C)
(D) sirg
wief (71 8
46. FEA! 50. =ow
(A) g (A) 7Y
(B) =f@ (B) *t
(C) Rege (C) =ew
(D) 9 (D) =
PARrT - I : ARITHMETIC Total Marks : 25

51. The time for a train of length 130 metres
running at the speed of 72 km/hr to cross a bridge of
length 150 metres is

(A) 9 sec
(B) 12:1 sec
(C) 13 sec
(D) 14 sec

52. One number is 25% of another number. The
larger number is 12 more than the smaller. The large
number is

(A) 48
(B) 16
© 4

(D) 12
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53. A man bought 4 dozen eggs at Rs. 24 per
dozen and 2 dozen eggs at Rs. 32 per dozen. To gain
20% on the whole, he should sell the eggs at

(A) Rs.16 per dozen
(B) Rs.21 per dozen
(C) Rs.32 per dozen
(D) Rs.35 per dozen

54. If MASON is coded as NBTPO, then WORLD
is coded as

(A) XPSME
(B) PSMEX
(C) SMEXP
(D) EXPSM

55. The average age of A, B is 51 years. If A is 2
years older than B then the present ages of A, B are
( in year)

(A) 52,50
(B) 54, 51
(C) 50,52
(D) 48, 51

56. The price of a chair is Rs. 500. It has been sold
at two successive discounts of 10% each. What is its
selling price?

(A) Rs. 400
(B) Rs. 405
(C) Rs. 415
(D) Rs. 425

57. Speed of a boat in still water is 4km/hr and the
speed of currentis lkm/hr. What time it will take to cover
20km if the boat moves in the direction of the
current?

(A) 4 hr
(B) 3 hr
(C) 2hr
(D) 1 hr

58. AABC is an equilateral triangle, if its height is
3\3 then find its length.
(A) 3 cm
(B) 6cm
(C) 9cm
(D) 5cm

59, The average age of eight teachers in a school
is 40 years. A teacher among them died at the age of
55 years whereas another teacher whose age was 39
years joins them. The average age of the teachers in
the school now is (in years)

(A) 35
(B) 36
(C) 38
(D) 39

60. In a school there are 2000 students, 40% of
them are girls. Monthly fee of each boy is 400 and fee
of each girl is 25% less than that of a boy. The sum
of fees of boys and girls is

(A) Rs.7,20,000
(B) Rs.72,000

(C) Rs.3,60,000
(D) Rs.1,20,000

61. Complete the series
= 28 1SN U N -
(A) 19
(B) 21
(C) 24
(D) 28

62. The per cent profit made when an article is
sold for Rs. 78 is twice as much as when it is sold for
Rs. 69, the cost price of the article is

(A) Rs. 60
(B) Rs. 51
(C) Rs. 55:50
(D) Rs. 70



63. There are 1400 students in a school, 25% of
those wear spectacles and 2/7 of those wearing
spectacles are boys. How many girls in the school
wear spectacles?

(A) 250
(B) 100
(C) 200
(D) 300

64. It costs Re. 1 to photocopy a sheet of paper.
However, 2% discount is allowed on all photocopies
done after first 1000 sheets. How much will it cost to
copy 5000 sheets of paper ?

(A) Rs. 3920
(B) Rs. 3980
(C) Rs. 4900
(D) Rs. 4920

65. A person spends 2/3rd of his income and is
able to save Rs. 3200 per month. His per month
expenditure is (in Rs.)

(A) 3600
(B) 2400
(C) 6400
(D) 6000

66. Ganesh, Ram and Sohan together can com-
plete a work in 16 days. If Ganesh and Ram together
can complete the same work in 24 days, the number
of days Sohan alone takes, to finish the work is

(A) 40
(B) 48
© 32
(D) 30

67. The sum of two positive integers is 80 and
difference between them is 20. Then what is difference
of squares of those numbers ?

(A) 1400
(B) 1600
(C) 1800
(D) 2000

SEC

68. The 4th term of the following alphabet series
ZXYM, VTUS, RPQO, , JHIG is

(A) LNKM
(B) NLKM
(C) NLMK
(D) LNMK

69. A shop keeper allows 20% discount on the
marked price on his articles. Find the marked price of an
article for which he charges Rs. 740?

(A) Rs. 725
(B) Rs. 875
(C) Rs. 925
(D) Rs. 1040

70. The given pie chart have shows the spendings
of a country on various sports during a year. Study
the graph and answer the following questions.

If the total amount spent on sports during the year
was Rs.15,000,000, the amount spent on cricket and
hockey together was

(A) Rs. 60,00,000
(B) Rs. 50,00,000
(C) Rs. 37,50,000
(D) Rs. 75,00,000



SEC

71. A, B and C can work together for Rs. 550,
A and B together are to do 7/11 of the work. The
share of C should be

(A) Rs. 200
(B) Rs. 300
(C) Rs. 400
(D) Rs. 450

72. fA:B=4:5and B:C=10:17,then A: C
is

(A) 4:17
(B) 8:17
(©) 2:37
(D) 9:17

73. If the simple interest on Rs. 400 for 10 years is
Rs. 280, then rate of interest per annum is

(A) 7%
(B) 7% %
(C) 7% %
(D) 8 %2 %

PARrT -1V : GENERAL KNOWLEDGE

76. Which fruit was recently declared as State
Fruit of Tripura?

(A) Queen Pineapple

(B) Alphonso Mango
(C) Jackfruit

(D) None of the above

77. Who has been recently appointed as the
Chairperson of the National Green Tribunal (NGT)?

(A) Justice Adarsh Kumar Goel
(B) Justice Swatanter Kumar
(C) Justice Soumitra Sen

(D) None of them

D-10

74. P's salary is 25% higher than Q, what percent-
age is Q's salary lower than that of P?

(A) 20
(B) 29
{C) 3l
(D) 331/3

75. In a village panchayat society 600 names are
enlisted as ‘below poverty level’. If 20% of the
villagers are below poverty level, the total number of
villagers is

(A) 4100
(B) 4200
(C) 4000
(D) 3000

Total Marks : 10

78. In India the Repo rate is announced by

(A) the Ministry of Finance, Government of
India

(B) the Prime Minister of India
(C) the Reserve Bank of India
(D) the President of India

79. Give full form of SHGs.
(A) Self House Groups
(B) Self Healthy Groups
(C) Self Held Groups
(D) Self Help Groups



80. Which river is known as ‘Sorrow of Bengal’?

81.

(A) Teesta

(B) Bhagirathi
(C) Mahananda
(D) Damodar

The National Song of India “Vande Mataram”

was written by

>

82.

(A) Lala Lajpat Rai

(B) Rabindranath Tagore

(C) Bankim Chandra Chattopadhyay
(D) Tulsidas

What is the chemical formula for oxygen?
(A) O,
(B) O,
©) o,
(D) O,

D-11

83.

84.

85.

SEC

BHIM app can be used to
(A) locate monuments

(B) make cashless payments
(C) sign digital records

(D) None of the above

The highest peak in India K2 is also known as
(A) Karakoram

(B) Kashmir

(C) Godwin Austin

(D) Kenneth

Who was the first Nobel prize winner in India?
(A) C.V.Raman

(B) Rabindranath Tagore

(C) Amartya Sen

(D) None of them
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